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Rounding does not give any useful result
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Optimize using primal simplex method
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Optimize using primal simplex method
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The optimal solution is fractional
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Cutting plane is violated by current optimum solution
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Re-optimize using dual simplex method
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A new fractional solution has been found
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The second cutting plane
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Re-optimize using dual simplex method

5

456

      1       

3

2
  

3

2

3

2

xz

xxx

−=

++−=

5

654

 1    

3

2
  1

2

xz

xxx

−=

+−=



653

52

651

3
5 1 

 1 

2

1
1 

xxx

xx

xxx

−+=

−=

+−=

The new optimum solution is integral
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